NuaauBuayajbHbIe 3aJaHAA
Pemuth 3apauy ontumusanuu CUMILIEKC METOIOM
JIMHEHHOT'0 MPOrpaMMHUPOBAHNA

Z(x)=x1+2xy +x3 — x4 —6 > max, 3 | [Z(x) =2 +2x;) + x4 + x5 — max,

(—x| + 5%, + x5 + x4 + x5 =10, (2x] =Xy —x3 =—1,

¢ 2x; =Xy +x3—3x, =6, | Xpt+x4=0,

| 10x, +x3 +2x4 +3x5 =25, | X+ X x5 =25,

gy 2l 1855 xj20,j=12,....5.

Z (x)="5x;+x, —3x3+2x, — min, 4| |Z(x)=2x —x; +3x4 +2x5+4 — min,
3x1+2xy +x3+x4 =7, [x) —2x3+x3 -3x5 =2,

{5x1+3x2+x3+2x4=11, 123 T Xy +4x3+ x5 =06,

x;20,7j=1,2,3,4. [ —X1 2% +3xy =4,

x;20,j=12,...,5.




Z (x)=-6x] +3x, +3x4 — max, 6 Z(x)=x+ x5 +x3 — x; — max,
(3x1+2x2 +X4218, (X1+X2+2X3+X4:12,
9 2X1 +X2 +2X4 S—9,

A

x; +2x5 +x3 <20,

\2x1 —4X2 +2X3 = 10, L Xp T Xy T3 S20,

X, 20,j=1234 x;20,/=1,2,3,4

Z(x)=6x; —2x, —8x3 — min, 8| |Z(x)=-2x—4x, —2x; - min,
x2 _x3 = _27 (—2x1 +X2 +X3 < 4,

] =5x1+x, +x3 =4, 1 —Xj+x5+3%3 <6,

| —8x) +2xp +2x4 +3x5 =25, | #—3uyTag s,

x;20,j=12,3. xy 20, =123

Z(X):xl_x2+x3%rnaxa 10 Z(X):5x1+2x2 +X3 — max ,

4X1+2X2+X3 26, ( x1+x2+x3 23,

I\
I\

—x1+x2+x3=1, x1+2x2+2x3=4,
\XI — X9 +4X3 < 24, \33(1 +4x2 + 2X3 = 12,

8o, =105 % 20 F=12.3




